Echarpe multicolore pour I'hiver

Yarn: acrylic

About 400 gr / 8 skeins of 50 gr /135 m

crochet recommanded 2.5/3.5

crochet used with two strand of yarn: 8

size8cm X 190 cm

For this pattern | used only double crochet 3 together, double crochet and chain. |
crocheted two strand of yarn together. | started with two strands of the same color,
then | changed only one color at the time.

How many stitches ? Multiple of 4+1 + the border stiches.

For this scarf | choosed to crochet 2 stiches at begining and 2 at the end oft he row.
=>multiple of 4 + 1 + 4 (2+2).

If you have 1 stitch at the begining and 1 at the end oft he row
=> Multiple of 4 +1 +2 (1+1)

How to make the Double crochet 3 together :

Yarn over the hook, into the stitch, pull up a loop, (you have 3 loops on your hook)
yarn over the hook, go through the 2 first loops, (2 loops on your hook),

Yarn over the hook, go tot he next stitch, pull up a loop, (4 loops on your hook), yarn
over the hook, go through the 2 first loops, (3 loops on your hook),

Yarn over the hook, go tot he next stitch, pull up a loop, (5 loops on your hook), yarn
over the hook, go through the 2 first loops, (4 loops on your hook), yarn over the
hook, go through all the 4 loops to finish your double crochet



Start :

Row 1

Row 2

Row 3

Row 4

Next rows

Last row

chain 29

chain 2, (count as the Tst double crochet), double crochet in the 4th
chain, keep doing 1 double crochet info each chain across.

chaine 3 (count as the Tst double crochet), 1 double crochet, chain 2,
skip 1 stitch, *double crochet 3 together, chain 3, skip on stitch* repeat
from* until you have 3 stitches left, then chain 2, skip 1 stitch, 1 double
crochet into the next two stitches.

This row has 6 blocs of double crochet 3 together, 7 holes between those
blocs

chain 4, (count as 1 double crochet + 1 chain), into the hole between the
2 double crochet and the 1st bloc of the previous row , * double crochet 3
together, chain 3, into the next hole double crochet 3 together*, repeat
from *, until the last space, then chain 1, 1 double in the last stitch.

This row has 7 blocs of double crochet 3 together, and é holes between
those blocs, + 2 small spaces between the double crochet and the bloc
at the begining and the end of the row.

chain 3, 1 double crochet, chain 2, skip the Tst bloc of the double crochet
together from the previous row, * in the first hole, double crochet 3
together, chain 3, skip the bloc, intfo the next hole double crochet 3
together*, repeat from *, at the end of the row chain 2, skip the bloc, 1
double crochet in each double crochet.

repeat 3 and 4 until you reach the length you want

chain 3, 28 double crochet. Be carefull fo have the same amount of
stitches. Crochet 1 double crochet into de bloc of 3 double crochet.





